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This is a simple mesh shawl that can be made with any weight of yarn. Use a 

hook a couple sizes above what is typically recommended for the yarn 

weight. I used worsted weight yarn with a K hook. 

Your yardage will depend on how large you make the shawl and what yarn 

weight you use. 

 

Notes: 

The chain 4 at the beginning of the row counts as a dc and ch 1 space. The 
first three ch will count as a dc in the stitch count. 

  
Inc = dc, ch 1, dc in same space 

 
 
Shawl: 

 
Chain 4, ss in first ch 

  
Row 1: chain 4, dc into ring, [ch 1, dc], repeat [ ] 6 more times (8 dc, 7 ch 
sp) 

  
Row 2: (place a marker in the chain space of each increase as you work 

them) chain 4, dc in first ch sp, ch 1, [inc in next ch sp, ch 1, dc in next ch 
sp, ch 1], repeat [ ] twice more, dc in 3rd chain of the previous row's starting 
chain 

  
Row 3:  chain 4, (dc, ch 1) in every ch sp around, working an increase when 

you get to the stitch markers, and ending with a dc in the third ch of the 
starting ch 
  

Repeat Row 3 for as large as you want the shawl 
  

Edging: 
 
Ch 1, sc in ch sp, [5 hdc in next ch sp, sc in next ch sp], repeat around, 

fasten off 
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